
RELAÇÃO DE ITENS BICICLETAS MONARK  C/REAJUSTE

PREÇO DO CENTO

20.140 PF SX NF ZB                          1/4 X   5/8  RI        7,77                               

20.797 AR PRESSAO ZB                        3/16                   0,57                               

21.930 PORCA SX ZB - CH.7/16                NF  1/4                1,86                               

21.944 PORCA SX ZB - CH.5/16                NC N. 10 (3/16)        0,82                               

22.000 PORCA SX ZB                          MA  6.                 1,37                               

24.155 PF SX MA 931 ZB                       6. X  50.             10,60                             

28.348 AR LISA ZB                            8 MM                  1,81                               

28.496 AR LISA ZB                            6 MM                  1,14                               

28.630 AR LISA ZB                            5 MM                  0,55                               

30.237 PF A-AT PAN FP ZB                    4,2 X  9,5             1,36                               

30.245 PF A-AT PAN FP ZB                    4,8 X  9,5             1,88                               

30.459 PF MAQ RED FS ZB                     3/16 X   3/8           1,41                               

30.460 PF MAQ RED FS ZB                     3/16 X   1/2           1,61                               

30.465 PF MAQ RED FS ZB                     3/16 X 1.1/4           2,70                               

31.407 PF TRAVA S/PORCA ZB                  5/16 X 1.3/4 RP        18,46                             

37.636 PF TRAVA S/PORCA ZB                  5/16 X 2.    RP        21,09                             


